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In a group of population consisting of half female and half male at birth, you are given that the
survival function for female is

Sf
0 (x) =

(
1− x

100

)1/3

, for 0 ≤ x ≤ 100,

while that for male is

Sm
0 (x) =

(
1− x

90

)1/2

, for 0 ≤ x ≤ 90.

The superscripts f and m are to refer to female and male, respectively.

1. Calculate the proportions of surviving male and female at age 45.

2. Calculate the probability that a randomly selected person from this group who has reached age
45 will survive another 20 years, but then dies the following 10 years.


